Munsell (Renotation)Buntheit C = 2 und Helligkeit (Value)v =1,5und9

in Farbartdiagramm (p5(F.M), p,(F,M)) ~ 1;=1.0,n3=2.806

P2(F:M) = pa(F)=py(M) %=0.11,B:=1.0
P,=1L[1,9907 (x-x) +3,8617y ~2,4046]y
-2,2 A= B [3,0757x-x.) ~2,5702y ~0,0960)y
. 2,00

) P3(F.M) = ps(F)-ps(M)

Munsell (RenotationjBuntheit C = 2 und Helligkeit (Value, \0/6= ,5und 9

in Buntheitsdiagramm (p*3(F,M), p*, (F,M)) n;=1.0,n5=2.
P(FM) = 0y [PF)~(M)] = &y Po(F.M) - %=0-11,B:=1.0,6,=0,91Y 0341
Po=No[1,9907 (x-x;) +3,8617y —2,4046y

p*%(F.M) =cy py(F.M)
= ¢y [p3(F)-p3(M)]

+2,00 V pa(F.M) py(F.M)

7,00 Vp5(FM) py(F.M)
0.

2,2 ~0B.[3,0757x-X) ~2,5702y ~0,0960}
~gfoo
& 00

1 00 0.0 100 0
2 00 00 2 00 0
3 00 00 300 0.0
4 00 0.0 4 00 0.0
5 00 00 5 00 0.0
6 00 00 - 6 00 0.0

w = 0,313 700 00 X =0313 7 00 00

M 8 00 00 iy = 0324 8 00 00

Yw =0.324 9 00 00 M =5 9 00 0.0
M 00 00 Yy = 25,30 M 00 0.0

Yy = 25.30
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Munsell (RenotationjBuntheit C = 2 und Helligkeit (Value)v =1,5und9 ,5und 9

in Farbartdiagramm (p5(F.M), p,(F,M)) ~ 1;=1.0,n3=2.80

Munsell (RenotationjBuntheit C = 2 und Helligkeit (Value)V =
in Buntheitsdiagramm (p%(F,M), p*% (F,M)) N,=1.0,n3=2.806

Po(F,M) = py(F)=po(M) %=0.11B=0.8 % (FM) = cy [PF)-(M)] = ¢y Po(F M) %:=0.11,B=0.8,¢,=0,91Y 0341
P,=Ny[1,9907 (x-x,) +3,8617y —2,4046]y Po=Ny[1,9907 (x-x;) +3,8617y —2,4046y
-2,2 P3=ngB,[3,0757x-x,) —2,5702y ~0,0960}¢ -2,2 P3=ngB[3,0757x-X) ~2,5702y ~0,0960}y
. 2,00 . +-2:00
p%(F.M) =cy py(F.M)
P3(F M) = ps(F)-pa(M) koo =cy [g(F)-ps(M)]
42,00 700 Vpy(FM) py(F.M) oo 7,00 V p(FM) pyF.M)
1 0.0 0.0 1 0.0 0.0
2 0.0 0.0 2 0.0 0.0
3 0.0 0.0 3 0.0 0.0
4 0.0 0.0 4 0.0 0.0
22,00 § 00 06 2,00 § 60 oo
X1 = 0,313 ! 700 00 X =0313 ! 7 00 0.0
Mo 8 00 00 iy = 0324 8 00 00
ym =0.324 9 0.0 0.0 M " 9 0.0 0.0
M 00 0.0 Yy = 25,30 M 00 0.0
Yy =25,30
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